		Lot 2 – Indefinite Delivery Indefinite Quantity: Addition				
	GSA Part	Part Description	Price	Quantity	Total Price	Total for SO 1
	29-E-ACB-A	For Renewal Only Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	
	29-ACH-L	For Renewal Only Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,443.13	2	\$4,886.26	
Single: Small	29-ACH-M	For Renewal Only Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,215.35	1	\$1,215.35	\$39,542.92
J	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	
	29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
	29-E-ACB-A	For Renewal Only Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	
	29-ACH-CM	For Renewal Only Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,674.93	2	\$3,349.86	
North Marthur	29-ACH-L	For Renewal Only Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,443.13	2	\$4,886.26	* • • • • • • • • • • • • • • • • • • •
Single: Medium	29-ACH-M	For Renewal Only Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,215.35	3	\$3,646.05	\$45,323.48
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	
	29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
	29-E-ACB-A	For Renewal Only Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	
	29-ACH-CM	For Renewal Only Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,674.93	4	\$6,699.72	
0:	29-ACH-L	For Renewal Only Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,443.13	2	\$4,886.26	4.0 am s = :
Single: Large	29-ACH-M	For Renewal Only Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,215.35	3	\$3,646.05	\$48,673.34
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	
	29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
/lulti-Site: Small	29-PAAS-SFS	Site Factory Small; PaaS	\$95,546.60	1	\$95,546.60	
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	\$109,878.59
Multi-Site:	29-PAAS-SFM	Site Factory Medium; PaaS	\$167,206.55	1	\$167,206.55	
Medium	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	\$181,538.54
/ulti-Site: Large	29-PAAS-SFL	Site Factory Large; PaaS	\$305,749.12	1	\$305,749.12	
9-	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	\$320,081.11
	!	Service Offering 2				
	GSA Part	Part Description	Price	Quantity	Total Price	Total for SO 2
	29-E-ACB-A	For Renewal Only Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	
	29-ACH-L	For Renewal Only Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,443.13	2	\$4,886.26	
Single: Small	29-ACH-M	For Renewal Only Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,215.35	1	\$1,215.35	\$82,538.89
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	4	\$57,327.96	
	29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
	29-E-ACB-A	For Renewal Only Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	
	29-ACH-CM	For Renewal Only Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,674.93	2	\$3,349.86	
North Marthur	29-ACH-L	For Renewal Only Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,443.13	2	\$4,886.26	# 00.040.45
Single: Medium	29-ACH-M	For Renewal Only Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,215.35	3	\$3,646.05	\$88,319.45
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	4	\$57,327.96	
	29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
	29-E-ACB-A	For Renewal Only Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	
	29-ACH-CM	For Renewal Only Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,674.93	4	\$6,699.72	
0:	29-ACH-L	For Renewal Only Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,443.13	2	\$4,886.26	
Single: Large	29-ACH-M	For Renewal Only Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,215.35	3	\$3,646.05	\$91,669.31
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	4	\$57,327.96	
	29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
lulti-Site: Small	29-PAAS-SFS	Site Factory Small; PaaS	\$95,546.60	1	\$95,546.60	* 4 = 0 =
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	4	\$57,327.96	\$152,874.56
Multi-Site:	29-PAAS-SFM	Site Factory Medium; PaaS	\$167,206.55	1	\$167,206.55	A 004 E 5 : -:
Medium	29-PA-05	Performance Audit (5 Days)	\$14,331.99	4	\$57,327.96	\$224,534.51
lulti-Site: Large	29-PAAS-SFL	Site Factory Large; PaaS	\$305,749.12	1	\$305,749.12	\$363,077.08

		Service Offering 3				
	GSA Part	Part Description	Price	Quantity	Total Price	Total for SO 3
	29-E-ACB-A	For Renewal Only Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	
	29-ACH-L	For Renewal Only Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,443.13	2	\$4,886.26	
Single: Small	29-ACH-M	For Renewal Only Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,215.35	1	\$1,215.35	\$197,194.81
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	12	\$171,983.88	
	29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
	29-E-ACB-A	For Renewal Only Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	
Single: Medium 29 29 29 29 29	29-ACH-CM	For Renewal Only Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,674.93	2	\$3,349.86	
	29-ACH-L	For Renewal Only Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,443.13	2	\$4,886.26	\$202,975.37
	29-ACH-M	For Renewal Only Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,215.35	3	\$3,646.05	\$202,975.37
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	12	\$171,983.88	
	29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
	29-E-ACB-A	For Renewal Only Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	
	29-ACH-CM	For Renewal Only Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,674.93	4	\$6,699.72	
Cingle: Lorge	29-ACH-L	For Renewal Only Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,443.13	2	\$4,886.26	\$206.325.23
Single: Large	29-ACH-M	For Renewal Only Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,215.35	3	\$3,646.05	\$206,325.23
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	12	\$171,983.88	
	29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
/ulti-Site: Small	29-PAAS-SFS	Site Factory Small; PaaS	\$95,546.60	1	\$95,546.60	\$267 F20 40
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	12	\$171,983.88	\$267,530.48
Multi-Site:	29-PAAS-SFM	Site Factory Medium; PaaS	\$167,206.55	1	\$167,206.55	\$339,190.43
Medium	29-PA-05	Performance Audit (5 Days)	\$14,331.99	12	\$171,983.88	Ф 339, 190.43
lulti-Site: Large	29-PAAS-SFL	Site Factory Large; PaaS	\$305,749.12	1	\$305,749.12	\$477,733.00
ū	29-PA-05	Performance Audit (5 Days)	\$14,331.99	12	\$171,983.88	φ4/7,/33.00

Part #	Part Description	Unit	NYS Price
29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	EA	\$4,777.33
29-ACB-001	Additional Cloud Bandwidth (per GB)	EA	\$2.87
29-ACE-ADD-100-249	Acquia Cloud Enterprise Additional Codebase (100 – 249)	EA	\$1,052.90
29-ACE-ADD-20-49	Acquia Cloud Enterprise Additional Codebase (20-49)	EA	\$2,105.79
29-ACE-ADD-250	Acquia Cloud Enterprise Additional Codebase (250+)	EA	\$526.45
29-ACE-ADD-2-9	Acquia Cloud Enterprise Additional Codebase (2-9)	EA	\$2,866.40
29-ACE-ADD-50-99	Acquia Cloud Enterprise Additional Codebase (50-99)	EA	\$1,579.35
29-ACE-BAS-1	Acquia Cloud Enterprise Basic (1 Codebase)	EA	\$19,109.32
29-ACE-BAS-10 29-ACE-BAS-20	Acquia Cloud Enterprise Basic (10 Codebase) Acquia Cloud Enterprise Basic (20 Codebase)	EA EA	\$36,851.39
29-ACE-BAS-50	Acquia Cloud Enterprise Basic (20 Codebase) Acquia Cloud Enterprise Basic (50 Codebase)	EA	\$52,644.84 \$89,496.22
29-ACE-BUS-1	Acquia Cloud Enterprise Business (1 Codebase)	EA	\$33,441.31
29-ACE-BUS-10	Acquia Cloud Enterprise Business (10 Codebase)	EA	\$52,644.84
29-ACE-BUS-100	Acquia Cloud Enterprise Business (100 Codebase)	EA	\$131,612.09
29-ACE-BUS-20	Acquia Cloud Enterprise Business (20 Codebase)	EA	\$68,438.29
29-ACE-BUS-250	Acquia Cloud Enterprise Business (250 Codebase)	EA	\$157,934.51
29-ACE-BUS-50	Acquia Cloud Enterprise Business (50 Codebase)	EA	\$105,289.67
29-ACE-ELITE-ADD-2-4	Acquia Cloud Enterprise Elite Additional Codebases (2-4)	EA	\$14,331.99
29-ACE-ELITE-ADD-5-7	Acquia Cloud Enterprise Elite Additional Codebases (5-7)	EA	\$13,161.21
29-ACE-ELITE-ADD-8-10	Acquia Cloud Enterprise Elite Additional Codebases (8-10)	EA	\$10,528.97
29-ACE-ELITE-DTAM-2	For Renewal Only Acquia Cloud Enterprise Elite: Dedicated TAM Option 2 For Renewal Only Acquia Cloud Enterprise Elite: Getting Started with Drupal Option 1	EA	\$105,101.26
29-ACE-ELITE-GSD-1	For Renewal Only Acquia Cloud Enterprise Elite: Getting Started with Drupal Option 3	EA	\$133,191.96 \$162,420,22
29-ACE-ELITE-GSD-3 29-ACE-MIG-LRG	Acquia Ready Platform Migration Large (Acquia Cloud Enterprise)	EA EA	\$162,429.22 \$14,331.99
29-ACE-MIG-MED	Acquia Ready Platform Migration Large (Acquia Cloud Enterprise)	EA	\$7,643.73
29-ACE-MIG-SM	Acquia Ready Platform Migration Small (Acquia Cloud Enterprise)	EA	\$3,821.86
29-ACE-PREM-1	Acquia Cloud Enterprise Premium (1 Codebase)	EA	\$52,644.84
29-ACE-PREM-10	Acquia Cloud Enterprise Premium (10 Codebase)	EA	\$68,438.29
29-ACE-PREM-100	Acquia Cloud Enterprise Premium (100 Codebase)	EA	\$147,405.54
29-ACE-PREM-20	Acquia Cloud Enterprise Premium (20 Codebase)	EA	\$84,231.74
29-ACE-PREM-250	Acquia Cloud Enterprise Premium (250 Codebase)	EA	\$173,727.96
29-ACE-PREM-50	Acquia Cloud Enterprise Premium (50 Codebase)	EA	\$121,083.12
29-ACE-START-1	Acquia Cloud Enterprise Starter (1 Codebase)	EA	\$14,214.11
29-ACE-START-10	Acquia Cloud Enterprise Starter (10 Codebase)	EA	\$30,007.56
29-ACE-START-20 29-ACH-CM	Acquia Cloud Enterprise Starter (20 Codebase) For Renewal Only Acquia Cloud Hardware - c1.medium; Annual Subscription	EA EA	\$45,801.01 \$1,674.93
29-ACH-CXL	For Renewal Only Acquia Cloud Hardware - c1.xlarge; Annual Subscription	EA	\$6,700.68
29-ACH-L	For Renewal Only Acquia Cloud Hardware - m1.large; Annual Subscription	EA	\$2,443.13
29-ACH-M	For Renewal Only Acquia Cloud Hardware - m1.medium; Annual Subscription	EA	\$1,215.35
29-ACH-MXL	For Renewal Only Acquia Cloud Hardware - m2.xlarge; Annual Subscription	EA	\$3,420.57
29-ACH-XL	For Renewal Only Acquia Cloud Hardware - m1.xlarge; Annual Subscription	EA	\$4,886.25
29-ACP-ADD-10-19	Acquia Insight Subscription Additional Codebase (10-19)	EA	\$658.06
29-ACP-ADD-20-49	Acquia Insight Subscription Additional Codebase (20-49)	EA	\$526.45
29-ACP-ADD-2-9 29-ACP-BAS-1	Acquia Insight Subscription Additional Codebase (2-9) Acquia Cloud Professional Basic (1 Codebase)	EA EA	\$789.67 \$13,161.21
29-ACP-BAS-10	Acquia Cloud Professional Basic (10 Codebases)	EA	\$23,690.18
29-ACP-BAS-20	Acquia Cloud Professional Basic (20 Codebase)	EA	\$31,586.90
29-ACP-BUS-1	Acquia Cloud Professional Business (1 Codebase)	EA	\$28,954.66
29-ACP-BUS-10	Acquia Cloud Professional Business (10 Codebases)	EA	\$39,483.63
29-ACP-BUS-20	Acquia Cloud Professional Business (20 Codebase)	EA	\$47,380.35
29-ACP-CONC	Acquia Ready Onboarding Concierge (Acquia Cloud Professional)	EA	\$2,388.66
29-ACP-MIG-LRG	Acquia Ready Platform Migration Large (Acquia Cloud Professional)	EA	\$14,331.99
29-ACP-MIG-MED	Acquia Ready Platform Migration Medium (Acquia Cloud Professional)	EA	\$7,643.73
29-ACP-MIG-SM	Acquia Ready Platform Migration Small (Acquia Cloud Professional) Acquia Cloud Professional Premium (1 Codebase)	EA	\$3,821.86
29-ACP-PREM-1 29-ACP-PREM-10	Acquia Cloud Professional Premium (1 Codebase) Acquia Cloud Professional Premium (10 Codebases)	EA EA	\$44,748.11 \$55,277.08
29-ACP-PREM-10 29-ACP-PREM-20	Acquia Cloud Professional Premium (10 Codebases)	EA	\$63,173.80
29-ACP-START-1	Acquia Cloud Professional Starter (1 Codebase)	EA	\$6,317.38
29-ACP-START-10	Acquia Cloud Professional Starter (10 Codebases)	EA	\$16,846.35
29-ACP-START-20	Acquia Cloud Professional Starter (20 Codebase)	EA	\$24,743.07
29-AD-00	For Renewal Only Additional Docroot	EA	\$9,554.66
29-ADD-APP-TICK	Additional Drupal Application Tickets (6 tickets)	EA	\$5,264.48
29-ADD-DEV-STOR	For Renewal Only Additional Dev/Stage Storage*	EA	\$5.73
29-ADE-ADD-10-19	Acquia Cloud Enterprise Additional Codebase (10-19)	EA	\$2,632.24
29-AS-BAS-1	Insight Subscription Basic (1 Codebase)	EA	\$10,528.97 \$17,372.80
29-AS-BAS-10 29-AS-BAS-20	Insight Subscription Basic (10 Codebase) Insight Subscription Basic (20 Codebase)	EA EA	\$17,372.80 \$21,057.93
29-AS-BAS-50	Insight Subscription Basic (50 Codebase)	EA	\$30,534.01
29-AS-BUS-1	Insight Subscription Business (1 Codebase)	EA	\$26,322.42
29-AS-BUS-10	Insight Subscription Business (10 Codebase)	EA	\$33,166.25
29-AS-BUS-100	Insight Subscription Business (100 Codebase)	EA	\$52,644.84
29-AS-BUS-20	Insight Subscription Business (20 Codebase)	EA	\$36,851.39
29-AS-BUS-250	Insight Subscription Business (250 Codebase)	EA	\$59,488.66

Part #	Part Description	Unit	NYS Price
29-AS-BUS-50	Insight Subscription Business (50 Codebase)	EA	\$46,327.46
29-ASD-001	Additional Shared Dev/Staging Environment PER CODE BASE	EA	\$573.28
29-AS-PREM-1	Insight Subscription Premium (1 Codebase)	EA	\$42,115.87
29-AS-PREM-10	Insight Subscription Premium (10 Codebase)	EA	\$48,959.70
29-AS-PREM-100	Insight Subscription Premium (100 Codebase)	EA	\$68,438.29
29-AS-PREM-20	Insight Subscription Premium (20 Codebase)	EA	\$52,644.84
29-AS-PREM-250	Insight Subscription Premium (250 Codebase)	EA	\$75,282.12
29-AS-PREM-50	Insight Subscription Premium (50 Codebase)	EA	\$62,120.9
29-AS-START-1	Insight Subscription Starter (1 Codebase)	EA	\$5,264.48
29-AS-START-10	Insight Subscription Starter (10 Codebase)	EA	\$10,528.9
29-AS-START-20	Insight Subscription Starter (20 Codebase)	EA	\$14,214.1
29-AW-00	Architecture Workshop	EA	\$14.331.99
29-BIWEL	Bi-Weekly Engagement Level	EA	\$62,105,29
29-CD-ELITE	Continuous Delivery Elite	EA	\$716,599.50
29-CD-ELITE-PLUS	Continuous Delivery Elite Plus	EA	\$735,708.82
29-CD-GOLD	Continuous Delivery Gold	EA	\$401,295.72
29-CD-GOLD-PLUS	Continuous Delivery Gold Plus	EA	\$429,959.70
29-CD-STAND	Continuous Delivery Standard	EA	\$217,846.25
29-CONFIG-SSO	Configuration Support SSO	EA	\$2,388.66
	<u> </u>		
29-CONFIG-VARNISH	Configuration Support Varnish (per VCL)	EA	\$2,388.66
29-DC-EV-3	DigiCert - Extended Validation (3 DOMAINS)	EA	\$238.8
29-DC-UCC-1	DigiCert - UCC (1 DOMAIN); Annual Subscription	EA	\$344.58
29-DC-W	DigiCert - Wildcard	EA	\$573.28
29-DED-VPC	Shield - Dedicated VPC	EA	\$47,773.30
29-DID-05	Drupal Immersion for Developers (5 Days)	EA	\$19,109.32
29-DVPN-FEE	Dedicated VPN - Set Up Fee	EA	\$9,554.66
29-DW-11	Discovery Workshop - 1 week onsite, 1 week remote	EA	\$38,218.64
29-E-ACB-A	For Renewal Only Elite - Add'l Code Base (Level A)	EA	\$14,331.99
29-E-ACB-C	For Renewal Only Elite - Add'l Code Base (Level C)	EA	\$28,663.98
29-E-DS-C	For Renewal Only Elite - Dedicated Support (Acquia Network with Cloud); Annual Subscription	EA	\$124,210.58
29-E-GACE	For Renewal Only Enterprise - Gold w/ Acquia Cloud Enterprise (Managed Cloud); Annual	EA	\$47,773.30
29-E-MCD-C	For Renewal Only Elite - Mission Critical Drupal (Acquia Network with Cloud); Annual Subscription	EA	\$367,854.4
29-E-S-00	For Renewal Only Enterprise - Silver	EA	\$23,886.6
29-E-SACE	For Renewal Only Enterprise - Silver w/ Acquia Cloud Enterprise (Managed Cloud); Annual	EA	\$33,441.3
29-G2-2XL	Gen2 2XL	EA	\$7,817.62
	Gen2 2XL CPU+	EA	
29-G2-2XL-CPU			\$5,863.69
29-G2-2XL-STOR	Gen2 2XL Stor+	EA	\$23,800.66
29-G2-4XL-CPU	Gen2 4XL CPU+	EA	\$11,725.48
29-G2-4XL-STOR	Gen2 4XL Stor+	EA	\$47,600.36
29-G2-8XL-CPU	Gen2 8XL CPU+	EA	\$23,451.9
29-G2-8XL-STOR	Gen2 8XL Stor+	EA	\$95,200.72
29-G2-LRG	Gen2 Large	EA	\$1,954.88
29-G2-LRG-CPU	Gen2 Large CPU+	EA	\$1,466.64
29-G2-XL	Gen2 XL	EA	\$3,908.8°
29-G2-XL-CPU	Gen2 XL CPU+	EA	\$2,931.3
29-G2-XL-STOR	Gen2 XL Stor+	EA	\$11,907.02
29-GOV-G2-2XL	GovCloud Gen2 2XL	EA	\$9,380.77
29-GOV-G2-2XL-CPU	GovCloud Gen2 2XL CPU+	EA	\$7,036.0
29-GOV-G2-2XL-STOR	GovCloud Gen2 2XL Stor+	EA	\$28,560.79
29-GOV-G2-4XL-CPU	GovCloud Gen2 4XL CPU+	EA	\$14,072.10
29-GOV-G2-4XL-STOR	GovCloud Gen2 4XL Stor+	EA	\$57,120.62
29-GOV-G2-4XL-STOR 29-GOV-G2-8XL-CPU	GovCloud Gen2 8XL CPU+	EA	\$28,142.30
29-GOV-G2-8XL-STOR	GovCloud Gen2 8XL Stor+		\$114,241.2
		EA	
29-GOV-G2-LRG	GovCloud Gen2 Large	EA	\$2,345.67
29-GOV-G2-LRG-CPU	GovCloud Gen2 Large CPU+	EA	\$1,759.97
29-GOV-G2-XL	GovCloud Gen2 XL	EA	\$4,690.38
29-GOV-G2-XL-CPU	GovCloud Gen2 XL CPU+	EA	\$3,518.9
29-GOV-G2-XL-STOR	GovCloud Gen2 XL Stor+	EA	\$14,280.3
29-HAFS-001	For Renewal Only HA File System or DB Storage (per GB); Annual Subscription	EA	\$5.73
29-HAFS-001	For Renewal Only HA File System or DB Storage (per GB); Annual Subscription	EA	\$5.73
29-IA-05	Infrastructure Audit (5 Days)	EA	\$14,331.9
29-JS-00	JumpStart	EA	\$15,793.4
29-LIFT-BDL-100MM	Acquia Lift Bundle - Testing & Targeting with Content Recommendations & Offers - Up to 100MM Monthly Unique Visitors	EA	\$296,194.4
29-LIFT-BDL-10MM	Acquia Lift Bundle - Testing & Targeting with Content Recommendations & Offers - Up to 10MM Monthly Unique Visitors	EA	\$109,878.5
29-LIFT-BDL-25MM	Acquia Lift Bundle - Testing & Targeting with Content Recommendations & Offers - Up to 25MM Monthly Unique Visitors	EA	\$160,040.5
29-LIFT-BDL-50MM	Acquia Lift Bundle - Testing & Targeting with Content Recommendations & Offers - Up to 50MM Monthly Unique Visitors	EA	\$238,866.5
29-LIFT-BDL-5MM	Acquia Lift Bundle - Testing & Targeting with Content Recommendations & Offers - Up to 5MM Monthly Unique Visitors	EA	\$62,105.2
	Acquia Lift Tier 1 - Content Recommendations & Offers - Up to 5MM Monthly Unique Visitors	EA	\$47,773.3
29-LIFT-TIER1			

Part #	Part Description	Unit	NYS Pric
29-LIFT-TIER3	Acquia Lift Tier 3 - Content Recommendations & Offers - Up to 25MM Monthly Unique Visitors	EA	\$128,987.9
29-LIFT-TIER4	Acquia Lift Tier 4- Content Recommendations & Offers - Up to 50MM Monthly Unique Visitors	EA	\$191,093.2
29-LIFT-TIER5	Acquia Lift Tier 5 - Content Recommendations & Offers - Up to 100MM Monthly Unique Visitors	EA	\$238,866.5
29-LIFT-TT-100MM	Acquia Lift - Testing & Targeting - Up to 100MM Monthly Unique Visitors	EA	\$176,761.2
29-LIFT-TT-10MM	Acquia Lift - Testing & Targeting - Up to 10MM Monthly Unique Visitors	EA	\$66,882.6
29-LIFT-TT-25MM 29-LIFT-TT-50MM	Acquia Lift - Testing & Targeting - Up to 25MM Monthly Unique Visitors Acquia Lift - Testing & Targeting - Up to 50MM Monthly Unique Visitors	EA EA	\$95,546.6 \$143,319.9
29-LIFT-TT-5MM	Acquia Lift - Testing & Targeting - Op to Solvin Monthly Unique Visitors Acquia Lift - Testing & Targeting - Up to 5MM Monthly Unique Visitors	EA	\$38,218.6
29-MD-OMP	Mollom Developer (Old Mollom Plus)	EA	\$505.3
29-MJS-10	Migration JumpStart (5 Days)	EA	\$28,663.9
29-MP-OMP	Mollom Professional (Old Mollom Premium)	EA	\$5,053.9
29-MRR-002	Multi Region Replication with Failover	EA	\$47,773.3
29-MRR-FEE	Multi Region Replication with Failover Set Up Fee	EA	\$19,109.3
29-NON-HASTOR-DB	For Renewal Only Non-HA Storage - Database	EA	\$5.7
29-NON-HASTOR-FS	For Renewal Only Non-HA Storage - File System	EA	\$5.7
29-OC-05	On-site Consulting (5 Days)	EA	\$15,793.4
29-PA-05	Performance Audit (5 Days)	EA	\$14,331.9
29-PAAS-SFL	Site Factory Large; PaaS	EA	\$305,749.1
29-PAAS-SFM	Site Factory Medium; PaaS	EA	\$167,206.5
29-PAAS-SFM	Site Factory Medium; PaaS	EA	\$167,206.5
29-PAAS-SFS	Site Factory Small; PaaS	EA	\$95,546.6
29-PCH-00	Prime Contractor Hours	EA	\$238.8
29-PP-B	For Renewal Only Professional Plus - Bronze	EA	\$4,777.3
29-PP-BAC-D	For Renewal Only Professional Plus - Bronze with Acquia Cloud (Dev Cloud); Annual Subscription	EA	\$5,732.8
29-PP-BACE	For Renewal Only Professional Plus - Bronze with Acquia Cloud Enterprise (Managed Cloud); Annual	EA	\$14,331.9
	Subscription		
29-PP-G	For Renewal Only Professional Plus - Gold	EA	\$14,331.9
29-PP-GACE	For Renewal Only Professional Plus - Gold with Acquia Cloud Enterprise (Managed Cloud); Annual	EA	\$23,886.6
00 DD 0	Subscription For Parameter Onto Performing at Plan. City on	E 4	
29-PP-S	For Renewal Only Professional Plus - Silver	EA	\$9,554.6
29-PP-SAC-D	For Renewal Only Professional Plus - Silver with Acquia Cloud (Dev Cloud); Annual Subscription For Renewal Only Professional Plus - Silver with Acquia Cloud Enterprise (Managed Cloud); Annual	EA	\$10,510.1
29-PP-SACE	Subscription	EA	\$19,109.3
	Elite Assurances **REQUIRES ELITE SUB** Security and performance assurance for one code base		
29-PS.A.ASSURE.001	annually.	EA	\$19,143.5
29-PS.B.D8.ADOPT	Drupal 8 Early Adopter Program	EA	\$9,571.7
231 0.0.00.7001 1	Acquia Lift - Target - Concierge One time fee - Acquia Ready Concierge for Acquia Lift Target is a	LA	ψ5,571.7
29-PS.H.LIFT.0016	series of remote sessions implemented by the Acquia Ready team to ensure that Lift Target and Lift	EA	\$7,178.8
	Bundle customers are properly on-boarded and the pro		**,***
	Database Readiness Workshop Database Readiness Workshop will help our customers prepare and		
29-PS.P.D8.WKS	plan for D8. It provides a review of architecture, modules and team to gear up and plan for the next	EA	\$33,979.8
	version of Drupal.		
	Drupal Continuous Integration Workshop Acquia's Continuous Integration workshop provides		
29-PS.P.DCIW	Customer with hands-on training and guidance in developing a comprehensive code deployment	EA	\$17,229.2
	strategy, including continuous integration and automated testing that		
	Front End Audit Acquia's Front End Audit will provide Customer with a detailed analysis of the theme		
29-PS.P.FE.001	layer of your Drupal site and custom recommendations for high performance and scalable theming.	EA	\$14,357.6
	Delivered remotely over 5 consecutive business days.		
20 BS B EE 002	Front End Theming Jumpstart Acquia's Front End Theming Jumpstart will provide Customer with	E 4	¢17 220 1
29-PS.P.FE.002	hands-on training around best practices for front end Drupal development, and help plan for high	EA	\$17,229.2
	performance and scalable theming. Delivered onsite at Custome Governance Workshop Acquia's Governance Workshop will provide Customer with consulting and		
29-PS.P.GW	quidance around the creation of a comprehensive digital governance model. Delivered over 5	EA	\$17,229.2
20. 0.1.011	consecutive business days: 4 days onsite at Customer location; 1 day		ψ11, <u>22</u> 0.1
	Infrastructure Planning Workshop Acquia's Drupal Infrastructure Workshop will help Customer develop		
29-PS.P.IPW	a thorough plan for implementing a sound infrastructure for your Drupal websites. Delivered over 5	EA	\$17,229.2
	consecutive business days: 4 days onsite at Custome		
	Acquia Lift - Recommend - Concierge One time fee- Acquia Ready Concierge for Acquia Lift		
29-PS.P.LFT.REC	Recommend includes a remote installation and validation of Lift Recommend as well as a series of	EA	\$7,178.8
	enablement sessions delivered by the Acquia Ready team to ensure		
29-PS.P.LIFT.BASE	Acquia Lift Enablement: Base This Lift enablement package begins your web personalization journey	EA	\$17,707.8
20 1 011 1211 112/102	with an onsite workshop, a detailed roadmap, and additional remote guidance as you get started.		\$11,1011
	Acquia Lift Enablement: Base + Omni-channel This Lift enablement package kickstarts your omni-		
29-PS.P.LIFT.BASEPLS	channel personalization journey with an onsite workshop, a detailed personalization roadmap and data	EA	\$35,894.
	architecture report, and additional remote guidance as		
29-PS.P.LIFT.OCUP	Acquia Lift Enablement: Omni-channel Upgrade This Lift enablement package upgrades your	EA	¢10 1/2
29-P3.P.LIFT.OCOP	personalization journey from web to omni-channel with an onsite workshop, a data architecture report,	EA	\$19,143.
	and additional remote guidance as you get started. Launch Readiness Basic Acquia Launch Readiness Basic is a strategic offering for a single non-		
29-PS.P.LNCH.BSC	commerce Drupal site that is designed to assist Customer for a successful launch of Customer's	EA	\$23,929.
23-1 O.I .LINOII.DOO	Drupal application on the Acquia Platform. Delivered remotely	-~	Ψ23,329.
	Launch Readiness Complete Acquia Launch Readiness Complete offering is for a single commerce		
29-PS.P.LNCH.FULL	Drupal site or Drupal multi-site that provides peace of mind for the successful launch of your site on	EA	\$35,894.2
	the Acquia Platform. Delivered remotely over 15 consec		+ 50,00 1
29-PS.P.LR.003	Launch Readiness Performance Profiling	EA	\$4,785.

29-PS.P.PK.PAU	Part Description	Unit	NYS Price
29-F3.P.PN.PAU	Performance Audit	EA	\$14,331.99
29-PS.P.SA	General Site Audit	EA	\$14,331.99
	Site Factory SaaS 1 Week JumpStart Acquia will deliver JumpStart Services to the Client to		
29-PS.P.SF.JS	accelerate their successful adoption of Acquia Cloud Site Factory. As part of the Services, Acquia will	EA	\$16,750.63
	provide an overview of Drupal and Acquia Cloud Site Fac		
00 00 0 011 0011	Acquia Cloud Edge Quick Start The Acquia Cloud Edge Quick Start service provides expert guidance		0470500
29-PS.P.SU.CDN	during the initial configuration of Acquia Cloud Edge Protect and/or Acquia Cloud Edge CDN for	EA	\$4,785.89
	Customer's Domain(s), while additionally helping Customer		
00 DC T MT	Migration Train your Team One time fee - Acquia will spend up to six hours training your team in the		¢4 405 75
29-PS.T.MT	use of our migration tools and processes to enable your development team to move additional sites to	EA	\$1,435.77
	Acquia's platform. Drupal Content Management Training (3-days) During this three (3) day course track brand or content		
29-PS.T.TRAIN.CMT3	administration teams learn content management workflows, managing landing pages, and/or other	EA	\$3,828.72
29-1 3.1.11(All V.CIVI13	advanced aspects of content maintenance to improve effic		ψ5,020.72
29-RAA-002	For Renewal Only Remote Administration - Alone	EA	\$11,465.59
29-RA-PREM	Remote Administration Premium	EA	\$9,554.66
29-RA-STAND	Remote Administration Standard	EA	\$5,264.48
23 101 0171145	Acquia Cloud Edge Protect - 10 Domains Acquia Cloud Edge Protect provides Distributed Denial-of-		ψο,204.40
29-S.HS.EDGE.10	Service (DDoS) Protection, Web Application Firewall (WAF) and Fast DNS services for the specified	EA	\$47,858.94
23 6.116.2562.10	number of production domains hosted by Acquia.		ψ+7,000.54
	Acquia Cloud Edge Protect - 100 Domains Acquia Cloud Edge Protect provides Distributed Denial-of-		
29-S.HS.EDGE.100	Service (DDoS) Protection, Web Application Firewall (WAF) and Fast DNS services for the specified	EA	\$114,861.46
20 011 1012 021 100	number of production domains hosted by Acquia.		Ψ,σσσ
	Acquia Cloud Edge Protect - 25 Domains Acquia Cloud Edge Protect provides Distributed Denial-of-		
29-S.HS.EDGE.25	Service (DDoS) Protection, Web Application Firewall (WAF) and Fast DNS services for the specified	EA	\$62,216.62
	number of production domains hosted by Acquia.		* • • • • • • • • • • • • • • • • • • •
	Acquia Cloud Edge Protect - 5 Domains Acquia Cloud Edge Protect provides Distributed Denial-of-		
29-S.HS.EDGE.5	Service (DDoS) Protection, Web Application Firewall (WAF) and Fast DNS services for the specified	EA	\$38,287.15
	number of production domains hosted by Acquia.		
	Acquia Cloud Edge Protect - 50 Domains Acquia Cloud Edge Protect provides Distributed Denial-of-		
29-S.HS.EDGE.50	Service (DDoS) Protection, Web Application Firewall (WAF) and Fast DNS services for the specified	EA	\$86,146.10
	number of production domains hosted by Acquia.		
29-S.HS.SVPN	Secure VPN **Set-Up Required** Secure VPN service	EA	\$14,357.68
29-SA-00	Security Audit	EA	\$14,331.99
29-SA-00	Security Audit	EA	\$14,331.99
29-SA-05	Site Audit (5 Days)	EA	\$14,331.99
29-SAO-L	Additional Shared Search Add-On - Large	EA	\$2,751.89
29-SAO-M	Additional Shared Search Add-On - Micro	EA	\$220.15
29-SAO-MD	Additional Shared Search Add-On - Medium	EA	\$1,651.13
29-SAO-S	Additional Shared Search Add-On - Small	EA	\$550.38
29-SAO-XL	Additional Shared Search Add-On - Extra-Large	EA	\$8,255.67
29-SB.H.ACE.00074	Acquia Cloud Enterprise Elite Bronze Monthly TAM hours not to exceed 10, no on site visits.	EA	\$97,967.25
29-SB.H.ACE.00076	Acquia Cloud Professional Per Additional Code Base Fee (20-49)	EA	\$1,100.76
29-SB.H.ACE.00100	Acquia Cloud Enterprise Elite Silver Monthly TAM hours not to exceed 20; Quarterly Onsite Visit	EA	\$154,105.79
29-SB.H.ACE.00103	Acquia Cloud Enterprise Elite Gold Monthly TAM hours not to exceed 40; Quarterly Onsite Visit	EA	\$257,576.83
29-SB.H.ACE.00106	Acquia Cloud Enterprise Elite Platinum Monthly TAM hours not to exceed 80; Quarterly Onsite Visit	EA	\$465,619.65
	Acquia Cloud Enterprise Elite Diamond Dedicated TAM; Monthly TAM hours not to exceed 120;		
29-SB.H.ACE.00107	Monthly Onsite Visit; Annual Performance and Security Application Assurance	EA	\$714,390.43
29-SB.H.ACP.00037	Acquia Cloud Professional Per Additional Code Base Fee (2-9)		
∠უ-טט.וז.A∪۲.0003 <i>1</i>		EA	\$1,435.77
29-SB.H.ACP.00037 29-SB.H.ACP.00038	Acquia Cloud Professional Per Additional Code Base Fee (10-19)	EA EA	
	Acquia Cloud Professional Per Additional Code Base Fee (10-19)		\$1,196.47
29-SB.H.ACP.00038	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps	EA	\$1,196.47
29-SB.H.ACP.00038	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High	EA	\$1,196.47
29-SB.H.ACP.00038	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps	EA	\$1,196.47 \$1,148.61
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho	EA EA	\$1,196.47 \$1,148.61
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200	EA EA	\$1,196.47 \$1,148.61 \$11,761.81
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High	EA EA	\$1,196.47 \$1,148.61 \$11,761.81
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps	EA EA	\$1,196.47 \$1,148.61 \$11,761.81
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250	EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High	EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps	EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200 29-SB.H.HA.DBS.250	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500 Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500	EA EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23 \$2,871.54
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage and disaster recovery system for your Drupal assets, including High	EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23 \$2,871.54
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200 29-SB.H.HA.DBS.250	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps	EA EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23 \$2,871.54
29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200 29-SB.H.HA.DBS.250 29-SB.H.HA.DBS.500	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 750 Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 750	EA EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23 \$2,871.54 \$5,743.07
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200 29-SB.H.HA.DBS.250	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage and disaster recovery system for your Drupal assets, including High Availability Database Storage and disaster recovery system for your Drupal assets, including High	EA EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23 \$2,871.54 \$5,743.07
29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200 29-SB.H.HA.DBS.250 29-SB.H.HA.DBS.500	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps	EA EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23 \$2,871.54 \$5,743.07
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200 29-SB.H.HA.DBS.250 29-SB.H.HA.DBS.500 29-SB.H.HA.DBS.500	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 50 GB	EA EA EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23 \$2,871.54 \$5,743.07 \$8,614.61
29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200 29-SB.H.HA.DBS.250 29-SB.H.HA.DBS.500	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 50 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage and disaster recovery system for your Drupal assets, including High Availability Database Storage and disaster recovery system for your Drupal assets, including High Availability Database Storage and disaster recovery system for your Drupal assets, including	EA EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23 \$2,871.54 \$5,743.07 \$8,614.61
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200 29-SB.H.HA.DBS.250 29-SB.H.HA.DBS.500 29-SB.H.HA.DBS.500	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 50 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps	EA EA EA EA EA	\$1,435.77 \$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23 \$2,871.54 \$5,743.07 \$8,614.61 \$574.31
29-SB.H.ACP.00038 29-SB.H.HA.DBS.100 29-SB.H.HA.DBS.1TB 29-SB.H.HA.DBS.200 29-SB.H.HA.DBS.250 29-SB.H.HA.DBS.500 29-SB.H.HA.DBS.500	Acquia Cloud Professional Per Additional Code Base Fee (10-19) Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 100 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snapsho Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage storage for resiliency, snaps Acquia Cloud Enterprise High Availability Database Storage and Disaster Recovery ANNUAL - 50 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability Database Storage and disaster recovery system for your Drupal assets, including High Availability Database Storage and disaster recovery system for your Drupal assets, including High Availability Database Storage and disaster recovery system for your Drupal assets, including	EA EA EA EA EA	\$1,196.47 \$1,148.61 \$11,761.81 \$2,297.23 \$2,871.54 \$5,743.07 \$8,614.61

Availability File storage for resiliency, snapshots, mon Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 50 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 25 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 25 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Acquia Cloud Cluster Gen2 Small Highly-available web & database (2 AC Instance Gen2 Large CPU+: 7 ACU	tion Unit NYS Price	Part #
Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 1 TB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File storage and Disaster Recovery ANNUAL - 200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency. Snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High EA \$2,87 Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 25 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 25 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Cluster Genz Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Cluster G	j ,	29-SB.H.HA.FSS.100 GB Highly-available storage and disast
29-SB.H.HA.FSS.200 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 50 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 50 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 25 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File Storage for resiliency, snapshots, monit 29-SB.H.HH.00066 29-SB.H.HH.00086 Acquia Cloud Cluster Gene System System Storage and Disaster Recovery ANNUAL - 500 GB Highly-available web & database (2 AC Instance Gene Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gene Dedicated dev/staging (1 Gene Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gene Large Highly-available web & database (2 AC Instance	or your Drupal assets, including High EA \$11,761.81	Acquia Cloud Enterprise High Availabil 9-SB.H.HA.FSS.1TB Highly-available storage and disaster in Availability File storage for resiliency, s
29-SB.H.HA.FSS.250 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni 29-SB.H.HA.FSS.750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 50 GB Highly-available storage for resiliency, snapshots, moni Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 50 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 25 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Cluster Gen2 Small Highly-available web & database (2 AC Instance Gen2 Large CPU+: 7 ACU; 3.75 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 Large Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 2XL: 126 ACU, 30 GB); Shared load balancer; Dedicated dev/staging (1		29-SB.H.HA.FSS.200 GB Highly-available storage and disast
29-SB.H.HA.FSS.750 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency. snapshots, moni 29-SB.H.HA.FSS.FI GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 25 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 25 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit 29-SB.H.HH.00006 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Cluster Gen2 Small Highly-available web & database (2 AC Instance Gen2 Large CPU+: 7 ACU; 3.75 Acquia Cloud Cluster Gen2 Medium Highly-available web & database (2 AC Instance Gen2 Large: 6.5 ACU, 7.5 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 Large Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 Large Highly-available web & database (2 AC Instance Gen2 XL: 26 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 XL: 26 ACU, 15	•	29-SB.H.HA.FSS.250 GB Highly-available storage and disast
Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 50 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit 29-SB.H.HA.FSS.TW GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit 29-SB.H.HH.00006 Acquia Cloud Cluster Gen2 Small Highly-available web & database (2 AC Instance Gen2 Large CPU+: 7 ACU; 3.75 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) 29-SB.H.HH.00087 Acquia Cloud Cluster Gen2 Large Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 Large Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB)		29-SB.H.HA.FSS.750 GB Highly-available storage and disast
Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 25 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, monit Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni 29-SB.H.HH.00006 Acquia Cloud Cluster Gen2 Small Highly-available web & database (2 AC Instance Gen2 Large CPU+: 7 ACU; 3.75 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) 29-SB.H.HH.00087 Acquia Cloud Cluster Gen2 Medium Highly-available web & database (2 AC Instance Gen2 Large: 6.5 ACU, 7.5 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) 29-SB.H.HH.00087 Acquia Cloud Cluster Gen2 Large Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) 29-SB.H.HH.00088 Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 ZXL: 26 ACU, 30 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 ZXL: 26 ACU, 30 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB)		Acquia Cloud Enterprise High Availabil 29-SB.H.HA.FSS.FI GB Highly-available storage and disast
Acquia Cloud Enterprise High Availability File System Storage and Disaster Recovery ANNUAL - 500 GB Highly-available storage and disaster recovery system for your Drupal assets, including High Availability File storage for resiliency, snapshots, moni 29-SB.H.HH.00006 Acquia Cloud Cluster Gen2 Small Highly-available web & database (2 AC Instance Gen2 Large CPU+: 7 ACU; 3.75 Acquia Cloud Cluster Gen2 Medium Highly-available web & database (2 AC Instance Gen2 Large: 6.5 ACU, 7.5 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 Medium Highly-available web & database (2 AC Instance Gen2 Large: 6.5 ACU, 7.5 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 Large Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 2XL: 26 ACU, 30 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) EA \$17,13:		Acquia Cloud Enterprise High Availabil 29-SB.H.HA.FSS.TW GB Highly-available storage and disast
29-SB.H.HH.00066 Acquia Cloud Cluster Gen2 Small Highly-available web & database (2 AC Instance Gen2 Large CPU+: 7 ACU; 3.75 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) 29-SB.H.HH.00086 29-SB.H.HH.00087 Acquia Cloud Cluster Gen2 Medium Highly-available web & database (2 AC Instance Gen2 Large: 6.5 ACU, 7.5 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) 29-SB.H.HH.00087 Acquia Cloud Cluster Gen2 Large Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 XL: 26 ACU, 30 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) EA \$1,400		Acquia Cloud Enterprise High Availabil -SB.H.HA.FSSDR.500 GB Highly-available storage and disast
29-SB.H.HH.00086 Acquia Cloud Cluster Gen2 Medium Highly-available web & database (2 AC Instance Gen2 Large: 6.5 ACU, 7.5 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) 29-SB.H.HH.00087 Acquia Cloud Cluster Gen2 Large Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) EA \$5,380 \$9,290 29-SB.H.HH.00088	· • • • • • • • • • • • • • • • • • • •	Acquia Cloud Cluster Gen2 Small High
29-SB.H.HH.00088 Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 XL: 13 ACU, 15 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 2XL: 26 ACU, 30 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) EA \$17,13	b & database (2 AC Instance Gen2 Large: 6.5	Acquia Cloud Cluster Gen2 Medium Hi
29-SB.H.HH.00088 Acquia Cloud Cluster Gen2 XL Highly-available web & database (2 AC Instance Gen2 2XL: 26 ACU, 30 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) EA \$17,13	ging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB) & database (2 AC Instance Gen2 XL: 13 ACU,	ACU, 7.5 GB); Shared load balancer; L Acquia Cloud Cluster Gen2 Large High
30 GB); Shared load balancer; Dedicated dev/staging (1 Gen2 Large CPU+: 7 ACU; 3.75 GB)	Gen2 Large CPU+: 7 ACU; 3.75 GB) latabase (2 AC Instance Gen2 2XL: 26 ACU,	15 GB); Shared load balancer; Dedicate Acquia Cloud Cluster Gen2 XL Highly-
	Gen2 Large CPU+: 7 ACU; 3.75 GB) ailable web (2 AC Instance Gen2 Large CPU+: _ CPU+: 14 ACU, 7.5 GB); Dedicated load	Acquia Cloud Cluster Gen2 Multi-tier M 29-SB.H.HH.00089 7 ACU, 3.75 GB); HA database (2 AC
Acquia Cloud Cluster Gen2 Multi-tier Large Highly-available web (4 AC Instance Gen2 Large CPU+: 7	able web (4 AC Instance Gen2 Large CPU+: 7 CPU+: 14 ACU, 7.5 GB); Dedicated load EA \$16,166.75	Acquia Cloud Cluster Gen2 Multi-tier L 29-SB.H.HH.00090 ACU, 3.75 GB); HA database (2 AC In:
Acquia Cloud Professional 1 GR Storage (Oty of 10, 25, 50, 100, 200, 500, 1 TR Only) Acquia Cloud	50, 100, 200, 500, 1 TR Only) Acquia Cloud	Acquia Cloud Professional 1 GB Storage
Acquia Cloud Cluster Gen2 Small (GovCloud) Highly-available web & database (2 AC Instance Gen2		Acquia Cloud Cluster Gen2 Small (Gov 29-SB.H.HH.00210 Large CPU+: 7 ACU, 3.75 GB); Shared
Acquia Cloud Gen2 Medium (GovCloud) Highly-available web & database (2 AC Instance Gen2 Large:		Acquia Cloud Gen2 Medium (GovCloud
Acquia Cloud Cluster Gen2 Large (GovCloud) High Availability web & database (2 AC Instance Gen2	ilability web & database (2 AC Instance Gen2	Acquia Cloud Cluster Gen2 Large (Gov
Acquia Cloud Cluster Gen2 XI. (GovCloud) Highly-available web & database (2 AC Instance Gen2	able web & database (2 AC Instance Gen2	29-SB H HH 00213 Acquia Cloud Cluster Gen2 XL (GovCl
Acquia Cloud Cluster Gen2 Multi-tier Medium (GovCloud) Highly-available web (2 AC Instance Gen2	d) Highly-available web (2 AC Instance Gen2 ance Gen2 XL CPU+: 14 ACU, 7.5 GB); EA \$15,870.03	Acquia Cloud Cluster Gen2 Multi-tier N 29-SB.H.HH.00214 Large CPU+: 7 ACU, 3.75 GB); HA dat
Acquia Cloud Cluster Gen2 Multi-tier Large (GovCloud) Highly-available web (4 AC Instance Gen2	Highly-available web (4 AC Instance Gen2 ance Gen2 XL CPU+: 14 ACU, 7.5 GB); EA \$19,392.44	Acquia Cloud Cluster Gen2 Multi-tier L 29-SB.H.HH.00215 Large CPU+: 7 ACU, 3.75 GB); HA dat
29-SB.H.HH.00219 Acquia Cloud Instance Dedicated Hypervisor Large EA \$2,15:	EA \$2,153.65	29-SB.H.HH.00219 Acquia Cloud Instance Dedicated Hype
29-SB.H.HH.00223 Acquia Cloud Instance Dedicated Hypervisor XL CPU+ EA \$3,238	EA \$3,235.26	29-SB.H.HH.00223 Acquia Cloud Instance Dedicated Hype
	· ,	
29-SB.H.HH.00234 Acquia Cloud Instance Dedicated Hypervisor Large CPU+ (GovCloud) EA \$1,933	J+ (GovCloud) EA \$1,933.50	29-SB.H.HH.00234 Acquia Cloud Instance Dedicated Hype

29-SB.H.HH.00240 Acquia Cloud Instance Dedicated Hypervisor 2XL Stor+ (Gc 29-SB.H.HH.00241 Acquia Cloud Instance Dedicated Hypervisor 4XL Stor+ (Gc 29-SB.H.HH.00242 Acquia Cloud Instance Dedicated Hypervisor 8XL Stor+ (Gc 29-SB.H.HH.00296 Acquia Cloud Cluster Dedicated Hypervisor Small 29-SB.H.HH.00297 Acquia Cloud Cluster Dedicated Hypervisor Medium 29-SB.H.HH.00298 Acquia Cloud Cluster Dedicated Hypervisor Large 29-SB.H.HH.00299 Acquia Cloud Cluster Dedicated Hypervisor Extra Large 29-SB.H.HH.00300 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Mediu 29-SB.H.HH.00301 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Mediu 29-SB.H.HH.00302 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Mediu 29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovClou 29-SB.H.HH.00305 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovC 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Gc 29-SB.H.HH.00308 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Medicated Hypervisor Multi-Tier Medicated Hypervisor Multi-Tier M	ovCloud) I ovCloud) I um I	EA	\$31,472.04 \$62,944.08 \$114,449.87 \$8,116.88 \$10,241.81 \$18,856.42 \$27,471.03 \$14,577.83 \$17,822.67 \$21,057.93 \$23,996.47
29-SB.H.HH.00242 Acquia Cloud Instance Dedicated Hypervisor 8XL Stor+ (Go 29-SB.H.HH.00296 Acquia Cloud Cluster Dedicated Hypervisor Small 29-SB.H.HH.00297 Acquia Cloud Cluster Dedicated Hypervisor Medium 29-SB.H.HH.00298 Acquia Cloud Cluster Dedicated Hypervisor Large 29-SB.H.HH.00299 Acquia Cloud Cluster Dedicated Hypervisor Extra Large 29-SB.H.HH.00300 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Mediu 29-SB.H.HH.00301 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Large 29-SB.H.HH.00302 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Mediu 29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovClou 29-SB.H.HH.00305 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovC 29-SB.H.HH.00306 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovC 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large	ovCloud)	EA E	\$114,449.87 \$8,116.88 \$10,241.81 \$18,856.42 \$27,471.03 \$14,577.83 \$17,822.67 \$21,057.93 \$23,996.47
29-SB.H.HH.00296 Acquia Cloud Cluster Dedicated Hypervisor Small 29-SB.H.HH.00297 Acquia Cloud Cluster Dedicated Hypervisor Medium 29-SB.H.HH.00298 Acquia Cloud Cluster Dedicated Hypervisor Large 29-SB.H.HH.00309 Acquia Cloud Cluster Dedicated Hypervisor Extra Large 29-SB.H.HH.00300 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Mediu 29-SB.H.HH.00301 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Large 29-SB.H.HH.00302 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovCloud Pyers) 29-SB.H.HH.00305 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovCloud Pyers) 29-SB.H.HH.00306 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovCloud Pyers) 29-SB.H.HH.00306 Acquia Cloud Cluster Dedicated Hypervisor Large (GovCloud Pyers) 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovCloud Pyers)	um	EA	\$8,116.88 \$10,241.81 \$18,856.42 \$27,471.03 \$14,577.83 \$17,822.67 \$21,057.93 \$23,996.47
29-SB.H.HH.00297 Acquia Cloud Cluster Dedicated Hypervisor Medium 29-SB.H.HH.00298 Acquia Cloud Cluster Dedicated Hypervisor Large 29-SB.H.HH.00299 Acquia Cloud Cluster Dedicated Hypervisor Extra Large 29-SB.H.HH.00300 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Mediu 29-SB.H.HH.00301 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Large 29-SB.H.HH.00302 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Mediu 29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovCloud Policy Poli	um I I I I I I I I I I I I I I I I I I I	EA EA EA EA EA EA EA EA EA	\$10,241.81 \$18,856.42 \$27,471.03 \$14,577.83 \$17,822.67 \$21,057.93 \$23,996.47
29-SB.H.HH.00298 Acquia Cloud Cluster Dedicated Hypervisor Large 29-SB.H.HH.00309 Acquia Cloud Cluster Dedicated Hypervisor Extra Large 29-SB.H.HH.00300 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Mediu 29-SB.H.HH.00301 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Large 29-SB.H.HH.00302 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Mediu 29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovCloud Policy	um	EA EA EA EA EA EA	\$18,856.42 \$27,471.03 \$14,577.83 \$17,822.67 \$21,057.93 \$23,996.47
29-SB.H.HH.00309 Acquia Cloud Cluster Dedicated Hypervisor Extra Large 29-SB.H.HH.00300 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Mediu 29-SB.H.HH.00301 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Large 29-SB.H.HH.00302 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Mediu 29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovClou 29-SB.H.HH.00305 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovC 29-SB.H.HH.00306 Acquia Cloud Cluster Dedicated Hypervisor Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou	um I I I I I I I I I I I I I I I I I I I	EA EA EA EA EA	\$27,471.03 \$14,577.83 \$17,822.67 \$21,057.93 \$23,996.47
29-SB.H.HH.00300 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Media 29-SB.H.HH.00301 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Large 29-SB.H.HH.00302 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Media 29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovClou 29-SB.H.HH.00305 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovC 29-SB.H.HH.00306 Acquia Cloud Cluster Dedicated Hypervisor Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou	um I I I I I I I I I I I I I I I I I I I	EA EA EA EA	\$14,577.83 \$17,822.67 \$21,057.93 \$23,996.47
29-SB.H.HH.00300 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Media 29-SB.H.HH.00301 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Large 29-SB.H.HH.00302 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Mediu 29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovClou 29-SB.H.HH.00305 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovC 29-SB.H.HH.00306 Acquia Cloud Cluster Dedicated Hypervisor Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClou	e I I I I I I I I I I I I I I I I I I I	EA EA EA	\$14,577.83 \$17,822.67 \$21,057.93 \$23,996.47
29-SB.H.HH.00301 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Large 29-SB.H.HH.00302 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Mediui 29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovCloud Cluster Dedicated Hypervisor Medium (GovCloud Cluster Dedicated Hypervisor Medium (GovCloud Cluster Dedicated Hypervisor Large (GovCloud Cluster Dedicated Hypervisor Extra Large (GovCloud Cluster Dedicated Hypervis	e I I I I I I I I I I I I I I I I I I I	EA EA	\$17,822.67 \$21,057.93 \$23,996.47
29-SB.H.HH.00302 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Mediui 29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovCloud Cluster Dedicated Hypervisor Medium (GovCloud Cluster Dedicated Hypervisor Medium (GovCloud Cluster Dedicated Hypervisor Large (GovCloud Cluster Dedicated Hypervisor Extra Large (GovCloud	m I I I I I I I I I I I I I I I I I I I	EA EA	\$21,057.93 \$23,996.47
29-SB.H.HH.00303 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large 29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovClou 29-SB.H.HH.00305 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovC 29-SB.H.HH.00306 Acquia Cloud Cluster Dedicated Hypervisor Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovCloud)	I Jud) I loud) I	EA EA	\$23,996.47
29-SB.H.HH.00304 Acquia Cloud Cluster Dedicated Hypervisor Small (GovClot 29-SB.H.HH.00305 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovC 29-SB.H.HH.00306 Acquia Cloud Cluster Dedicated Hypervisor Large (GovClot 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovClot	ıd) I	EA	
29-SB.H.HH.00305 Acquia Cloud Cluster Dedicated Hypervisor Medium (GovC 29-SB.H.HH.00306 Acquia Cloud Cluster Dedicated Hypervisor Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Go	loud)		\$9,657.93
29-SB.H.HH.00306 Acquia Cloud Cluster Dedicated Hypervisor Large (GovClou 29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (GovCloud Cluster Dedicated Hypervisor Extra Large (GovCloud Cluster Extra Large (GovC			\$12,280.60
29-SB.H.HH.00307 Acquia Cloud Cluster Dedicated Hypervisor Extra Large (Go	1G/	EA	\$22,627.71
71 0 1	ovCloud)	EA	\$32,955.67
29-36.H.HH.00306 Acquia Cioda Ciustei Dedicated Hypervisoi Mutti-Tier Medic		EA	\$17,401.51
20 CD LLUI 20202 Aggio Claud Chater Dedicated Limpariage Multi Tigal aggs	1 /		
29-SB.H.HH.00309 Acquia Cloud Cluster Dedicated Hypervisor Multi-Tier Large		EA	\$27,538.04
29-SB.H.HH.00310 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Mediu		EA	\$25,269.52
29-SB.H.HH.00311 Acquia Cloud Cluster Dedicated Hypervisor Full Tier Large	` '	EA	\$28,791.94
29-SB.H.HH.00352 Acquia Cloud Cluster Full Tier Medium		EA	\$21,057.93
29-SB.H.HH.00353 Acquia Cloud Cluster Full Tier Large		EA	\$23,996.47
29-SB.H.HH.00364 Acquia Cloud Cluster Full Tier Medium (GovCloud)	!	EA	\$25,269.52
29-SB.H.HH.00365 Acquia Cloud Cluster Full Tier Large (GovCloud)	,	EA	\$28,791.94
Acquia Lift Base (500K uniques) Data warehouse powering	unified customer profiles, real-time		
29-SB.H.LIFT.0023 segmentation, and behavioral testing & targeting for up to 5		EA	\$57,430.73
Acquia Lift Base (5M uniques) Data warehouse powering un	nified customer profiles real-time		
29-SB.H.LIFT.0024 segmentation, and behavioral testing & targeting for up to 5		EA	\$71,788.41
Acquia Lift Base (10M uniques) Data warehouse powering u	initied customer profiles real-time		
29-SB.H.LIFT.0025 segmentation, and behavioral testing & targeting for up to 1		EA	\$95,717.88
Acquia Lift Base (25M uniques) Data warehouse powering to			
29-SB.H.LIFT.0026 segmentation, and behavioral testing & targeting for up to 2		EA	\$143,576.83
Acquia Lift Base (50M uniques) Data warehouse powering to		-	
		EA	\$215,365.24
segmentation, and behavioral testing & targeting for up to 5			
29-SB.H.LIFT.0028 Acquia Lift Base (100M uniques) Data warehouse powering	• •	EA	\$263,224.18
segmentation, and behavioral testing & targeting for up to 1			
29-SB.H.LIFT.0029 Acquia Lift Omni-channel Add-on (500K uniques) APIs and		EA	\$28,715.37
29-SB.H.LIFT.0030 Acquia Lift Omni-channel Add-on (5M uniques) APIs and de		EA	\$35,894.21
29-SB.H.LIFT.0031 Acquia Lift Omni-channel Add-on (10M uniques) APIs and of		EA	\$47,858.94
29-SB.H.LIFT.0032 Acquia Lift Omni-channel Add-on (25M uniques) APIs and of	dedicated warehouse	EA	\$71,788.41
29-SB.H.LIFT.0033 Acquia Lift Omni-channel Add-on (50M uniques) APIs and of		EA	\$107,682.62
29-SB.H.LIFT.0034 Acquia Lift Omni-channel Add-on (100M uniques) APIs and	dedicated warehouse	EA	\$131,612.09
Dedicated Search Tier 1 Dedicated Acquis Search environs	ment supporting a search index up to 5CB		
29-SB.S.SS.DED1 and up to 5MM queries / month. Monthly overage rate of \$5		EA	\$27,518.89
Dedicated Search Tier 2 Dedicated Acquia Search environs	ment supporting a search index up to 15GB		
29-SB.S.SS.DED2 and up to 15MM queries / month. Monthly overage rate of \$	'''	EA	\$38,526.45
Dedicated Search Tier 3 Dedicated Acquia Search environs	ment supporting a search index up to 50GB		
29-SB.S.SS.DED3 and up to 50MM gueries / month. Monthly overage rate of \$	•	EA	\$49,534.01
Dedicated Search Tier 4 Dedicated Acquia Search environr			
		EA	\$60,541.56
100GB and up to 100MM queries / month. Monthly overage			
Acquia Cloud Site Factory Small Elite Bronze Coverage for			# 000 040 00
29-SB.SF.ELI.SF117 Drupal support tickets; 24x7 emergency coverage; 30 minut	e critical response; Monthly TAM hours not	EA	\$208,042.82
to exceed 10			
Acquia Cloud Site Factory Small Elite Silver Coverage for u			
29-SB.SF.ELI.SF120 Drupal support tickets; 24x7 emergency coverage; 30 minut	e critical response; Monthly TAM hours not	EA	\$264,181.36
to exceed 20; Quarterly Onsite Visit			
Acquia Cloud Site Factory Small Elite Gold Coverage for up			
29-SB.SF.ELI.SF123 Drupal support tickets; 24x7 emergency coverage; 30 minut	e critical response; Monthly TAM hours not	EA	\$367,652.39
to exceed 40; Quarterly Onsite Visit			
	or up to 1MM pageviews/month; Unlimited		
Acquia Cloud Site Factory Small Elite Platinum Coverage fo		EA	\$575,695.21
	te critical response; Monthly TAM hours not		
Acquia Cloud Site Factory Small Elite Platinum Coverage for	te critical response; Monthly TAM hours not		
Acquia Cloud Site Factory Small Elite Platinum Coverage for 29-SB.SF.ELI.SF126 Drupal support tickets; 24x7 emergency coverage; 30 minut	, , ,		
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minute to exceed 80; Quarterly Onsite Visit	or up to 1MM pageviews/month; Unlimited	EA	\$824,465.99
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minute to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Particular Platinum Coverage for exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for exceed 80; Quarterly Onsite Visit	or up to 1MM pageviews/month; Unlimited te critical response; Dedicated TAM;		\$824,465.99
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut	or up to 1MM pageviews/month; Unlimited te critical response; Dedicated TAM;		\$824,465.99
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Monthly TAM hours not to exceed 120; Monthly Onsite Visit	or up to 1MM pageviews/month; Unlimited te critical response; Dedicated TAM; ; As or up to 5MM pageviews/month; Unlimited		
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Monthly TAM hours not to exceed 120; Monthly Onsite Visit Acquia Cloud Site Factory Medium Elite Bronze Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Support tickets;	or up to 1MM pageviews/month; Unlimited te critical response; Dedicated TAM; ; As or up to 5MM pageviews/month; Unlimited	EA	
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Monthly TAM hours not to exceed 120; Monthly Onsite Visit Acquia Cloud Site Factory Medium Elite Bronze Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10	or up to 1MM pageviews/month; Unlimited te critical response; Dedicated TAM; ; As or up to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not	EA	
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Monthly TAM hours not to exceed 120; Monthly Onsite Visit Acquia Cloud Site Factory Medium Elite Bronze Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10 Acquia Cloud Site Factory Medium Elite Silver Coverage for Exceed 10 Acquia Cloud Site Factory Medium Elite Silver Coverage for Exceed 10	or up to 1MM pageviews/month; Unlimited the critical response; Dedicated TAM; ; As or up to 5MM pageviews/month; Unlimited the critical response; Monthly TAM hours not rup to 5MM pageviews/month; Unlimited	EA	\$290,599.50
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Monthly TAM hours not to exceed 120; Monthly Onsite Visit Acquia Cloud Site Factory Medium Elite Bronze Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10 Acquia Cloud Site Factory Medium Elite Bronze Coverage for Every Service of 10 Acquia Cloud Site Factory Medium Elite Silver Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10 Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10	or up to 1MM pageviews/month; Unlimited the critical response; Dedicated TAM; ; As or up to 5MM pageviews/month; Unlimited the critical response; Monthly TAM hours not rup to 5MM pageviews/month; Unlimited	EA EA	\$290,599.50
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit 29-SB.SF.ELI.SF127 Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Monthly TAM hours not to exceed 120; Monthly Onsite Visit Acquia Cloud Site Factory Medium Elite Bronze Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10 Acquia Cloud Site Factory Medium Elite Silver Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20 Prupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20	or up to 1MM pageviews/month; Unlimited te critical response; Dedicated TAM; ; As or up to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not rup to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not	EA EA	\$290,599.50
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Monthly TAM hours not to exceed 120; Monthly Onsite Visit Acquia Cloud Site Factory Medium Elite Bronze Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10 Acquia Cloud Site Factory Medium Elite Silver Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10 Acquia Cloud Site Factory Medium Elite Silver Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20 Acquia Cloud Site Factory Medium Elite Gold Coverage for exceed 20	or up to 1MM pageviews/month; Unlimited te critical response; Dedicated TAM; ; As or up to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not rup to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not up to 5MM pageviews/month; Unlimited	EA EA	\$290,599.50 \$346,738.04
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Monthly TAM hours not to exceed 120; Monthly Onsite Visit Acquia Cloud Site Factory Medium Elite Bronze Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10 Acquia Cloud Site Factory Medium Elite Silver Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20 Acquia Cloud Site Factory Medium Elite Silver Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20 Acquia Cloud Site Factory Medium Elite Gold Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20 Acquia Cloud Site Factory Medium Elite Gold Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20	or up to 1MM pageviews/month; Unlimited te critical response; Dedicated TAM; ; As or up to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not rup to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not up to 5MM pageviews/month; Unlimited	EA EA	\$290,599.50
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Monthly TAM hours not to exceed 120; Monthly Onsite Visit Acquia Cloud Site Factory Medium Elite Bronze Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10 Acquia Cloud Site Factory Medium Elite Silver Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20 Acquia Cloud Site Factory Medium Elite Silver Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20 Acquia Cloud Site Factory Medium Elite Gold Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 40; Quarterly Onsite Visit	or up to 1MM pageviews/month; Unlimited te critical response; Dedicated TAM; ; As or up to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not rup to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not up to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not le critical response de critic	EA EA	\$290,599.50 \$346,738.04
Acquia Cloud Site Factory Small Elite Platinum Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 80; Quarterly Onsite Visit Acquia Cloud Site Factory Small Elite Diamond Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut Monthly TAM hours not to exceed 120; Monthly Onsite Visit Acquia Cloud Site Factory Medium Elite Bronze Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 10 Acquia Cloud Site Factory Medium Elite Silver Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20 Acquia Cloud Site Factory Medium Elite Silver Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20 Acquia Cloud Site Factory Medium Elite Gold Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20 Acquia Cloud Site Factory Medium Elite Gold Coverage for Drupal support tickets; 24x7 emergency coverage; 30 minut to exceed 20	or up to 1MM pageviews/month; Unlimited te critical response; Dedicated TAM; ; As or up to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not rup to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not up to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not e for up to 5MM pageviews/month; Unlimited te critical response; Monthly TAM hours not e for up to 5MM pageviews/month;	EA EA	\$290,599.50 \$346,738.04

Group 76000

Part #	Part Description	Unit	NYS Price
29-SB.SF.ELI.SF138	Acquia Cloud Site Factory Diamond Coverage for up to 5MM pageviews/month; Unlimited Drupal support tickets; 24x7 emergency coverage; 30 minute critical response; Monthly TAM hours not to exceed 120; Monthly Onsite Visit; Associate Large Scale Drupal;	EA	\$907,022.67
29-SB.SF.ELI.SF139	Acquia Cloud Site Factory Large Elite Bronze Coverage for up to 10MM pageviews/month; Unlimited Drupal support tickets; 24x7 emergency coverage; 30 minute critical response; Monthly TAM hours not to exceed 10	EA	\$450,209.07
29-SB.SF.ELI.SF142	Acquia Cloud Site Factory Large Elite Silver Coverage for up to 10MM pageviews/month; Unlimited Drupal support tickets; 24x7 emergency coverage; 30 minute critical response; Monthly TAM hours not to exceed 20; Quarterly Onsite Visit	EA	\$506,347.61
29-SB.SF.ELI.SF145	Acquia Cloud Site Factory Large Elite Gold Coverage for up to 10MM pageviews/month; Unlimited Drupal support tickets; 24x7 emergency coverage; 30 minute critical response; Monthly TSS hours not to exceed 40; Quarterly Onsite Visit	EA	\$609,818.64
29-SB.SF.ELI.SF148	Acquia Cloud Site Factory Large Elite Platinum Coverage for up to 10MM pageviews/month; Unlimited Drupal support tickets; 24x7 emergency coverage; 30 minute critical response; Monthly TSS hours not to exceed 80; Quarterly Onsite Visit	EA	\$817,861.46
29-SB.SF.ELI.SF149	Acquia Cloud Site Factory Large Elite Diamond Coverage for up to 10MM pageviews/month; Unlimited Drupal support tickets; 24x7 emergency coverage; 30 minute critical response; Monthly TSS hours not to exceed 120; Monthly Onsite Visit; Associate Large	EA	\$1,066,632.24
29-SF-CD-BAS	Site Factory Continuous Delivery Basic	EA	\$114,655.92
29-SF-CD-STAND	Site Factory Continuous Delivery Standard	EA	\$217,846.25
29-SSL-002	SSL Certificate	EA	\$191.09
29-SSU-05	Skills step-up (5 Days)	EA	\$19,109.32
29-TAM-ADD-10	Event-Based TAM Burst - 10 hours (Acquia Cloud Enterprise)	EA	\$4,299.60
29-TAM-ADD-20	Event-Based TAM Burst - 20 hours (Acquia Cloud Enterprise)	EA	\$8,312.55
29-TAM-ADD-30	Event-Based TAM Burst - 30 hours (Acquia Cloud Enterprise)	EA	\$12,182.19
29-TAM-ADD-40	Event-Based TAM Burst - 40 hours (Acquia Cloud Enterprise)	EA	\$15,860.74
29-TAM-ADD-50	Event-Based TAM Burst - 50 hours (Acquia Cloud Enterprise)	EA	\$19,109.32
29-TRN-DR-DAY	Drupal 7 in a Day (1 Day)	EA	\$4,211.59
29-TRN-DR-MD	Drupal 7 Module Development (2 Days)	EA	\$8,423.17
29-TRN-DR-MULTI	Drupal 7 Multilingual Development (1 day)	EA	\$4,211.59
29-TRN-DR-PANELS	Drupal 7 Panels (1 day)	EA	\$4,211.59
29-TRN-DR-PHP	PHP for Drupal (1 day)	EA	\$4,211.59
29-TRN-DR-SB	Drupal 7 Site Building (2 Days)	EA	\$8,423.17
29-TRN-DR-THEME	Drupal 7 Theming & Layouts (2 Days)	EA	\$8,423.17
29-S.HS.GSA.CDN.1	Acquia Cloud Edge CDN - Up to 1 domain and 1 TB/mo bandwidth *1 Year Only*	EA	\$55,277.08
29-S.HS.GSA.CDN.3	Acquia Cloud Edge CDN - Up to 3 domains and 5 TB/mo bandwidth *1 Year Only*	EA	\$90,453.40
29-S.HS.GSA.CDN.5	Acquia Cloud Edge CDN - Up to 5 domains and 10 TB/mo bandwidth *1 Year Only*	EA	\$115,579.35
29-S.HS.GSA.CDN.10	Acquia Cloud Edge CDN - Up to 10 domains and 20 TB/mo bandwidth *1 Year Only*	EA	\$145,730.48
29-S.HS.GSA.CDN.50	Acquia Cloud Edge CDN - Up to 50 domains and 40 TB/mo bandwidth *1 Year Only*	EA	\$165,831.23

December 29, 2014 - July 13, 2015

	Lot 1 – Red	quested Websites						
Website	Service Offering 1	Service Offering 2	Service Offering 3					
NY.gov	\$145,428.15	\$236,197.42	\$446,399.94					
Governor.ny.gov	\$45,104.22	\$88,100.19	\$202,756.11					
Licensecenter.ny.gov	\$45,104.22	\$23, 00 19	\$202,756.11					
	Hou	y support						
Titles	J b De	cription	Hourly Rate					
Technical Engineer	Prime Contactor Hours	170	\$238.87					
	Utility U	Usag Picing						
	Utility	Rate						
	Bandwidth A	\$2.87 GB / per year						
	File State \$5.73 GB / per year Lot 2 - Inde inite Delivery Indefinite Quantity: Additional Websites							
Lot 2 -	de ini e Delivery Inde	efinite Quantity: Addition	nal Websites					
Website 🔨	Service Offering 1	Service Offering 2	Service Offering 3					
Single: Small	\$ 40,641.69	\$ 83,637.66	\$ 198,293.58					
Single: Medium	\$ 47,016.55	\$ 90,012.52	\$ 204,668.44					
Single: Large	\$ 50,502.09	\$ 93,498.06	\$ 208,153.98					
Multi-Site: Small	\$ 109,878.59	\$ 152,874.56	\$ 267,530.48					
Multi-Site: Medium	\$ 181,538.54	\$ 224,534.51	\$ 339,190.43					
Multi-Site: Large	\$ 320,081.11	\$ 363,077.08	\$ 477,733.00					

		LOT 1 IS COMPLETE, PRICING IS AVAILABLE FOR ARC	CHIVE PUF	RPOSES O	NLY	
		Service Offering 1				
	GSA Part	Part Description	Price	Quantity	Total Price	Total for SO 1
	29-E-DS-C	Elite - Dedicated Support (Acquia Network with Cloud); Annual Subscription; (Includes	\$124,210.58	1	\$124,210.58	\$145,428.1
	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77	2	\$3,485.54	
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98	
	29-HAFS-001	HA File System (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
	29-HAFS-001	DB Storage (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
NY.Gov	29-ACOM-	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	\$45,104.2
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	
	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77	2	\$3,485.54	
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual ubstotion	\$1,444.66	3	\$4,333.98	
Governor.	29-HAFS-001	HA File System (per GB); Annual Sylench Top	\$5.	250	\$1,432.50	1
ny.gov	29-HAFS-001	DB Storage (per GB); Annual Suscription	\$5.7	250	\$1,432.50	1
7.0	29-E-ACB-A	Elite - Add'l Code Base (ev A)	314.33	1	\$14,331.99	\$45,104.22
	29-PA-05	Performance A to, 15 Da	¥14,331.99	1	\$14,331.99	
	29-ACH-CM	Performance A to 15 Da 11 Acquia Cloud Ha. c1.medium; Annual Subsci	\$1,742.77	2	\$3,485.54	
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Control on	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Acquia Cloud Hardware - m1.medium; An al Substantion	\$1,444.66	3	\$4,333.98	
Licensecent	29-HAFS-001	HA File System (per GB); Annua Subscripti	\$5.73	250	\$1,432.50	
er. ny.gov	29-HAFS-001	DB Storage (per Annual Subription	\$5.73	250	\$1,432.50	
7.0		Service Offering 2				
	GSA Part	Part Description	Price	Quantity	Total Price	Total for SO 2
	29-E-AT-C	te - Action my Team (Acquia Network with Cloud); Annual Subscription; (Includes	\$205,425.19	1	\$205,425.19	\$236,197.42
	29-ACH-CM	A Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77	2	\$3,485.54	1
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	1
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98	1
	29-HAFS-001	HA File System (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
	29-HAFS-001	DB Storage (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
	29-AAHR-12	12 Additional Advisory Hours (sold in bundles of 12 up to 60 total)	\$4,777.33	2	\$9,554.66	
NY.Gov	29-ACOM-	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	1
	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	\$88,100.19
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	4	\$57,327.96	
	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77	2	\$3,485.54	
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98	
	23 / (OTT W		\$5.73	250	\$1,432.50	1
Governor n		HA File System (per GB); Annual Subscription	ψυ.13	200		
Governor.n		HA File System (per GB); Annual Subscription DB Storage (per GB); Annual Subscription	\$5.73	250	\$1,432.50	1
Governor.n y.gov	29-HAFS-001	7 1			\$1,432.50 \$14,331.99	\$88,100.19
	29-HAFS-001 29-HAFS-001	DB Storage (per GB); Annual Subscription	\$5.73	250 1		\$88,100.19
	29-HAFS-001 29-HAFS-001 29-E-ACB-A	DB Storage (per GB); Annual Subscription Elite - Add'l Code Base (Level A)	\$5.73 \$14,331.99	250 1 4	\$14,331.99	\$88,100.19
	29-HAFS-001 29-HAFS-001 29-E-ACB-A 29-PA-05	DB Storage (per GB); Annual Subscription Elite - Add'l Code Base (Level A) Performance Audit (5 Days) Acquia Cloud Hardware - c1.medium; Annual Subscription	\$5.73 \$14,331.99 \$14,331.99	250 1 4	\$14,331.99 \$57,327.96 \$3,485.54	\$88,100.19
	29-HAFS-001 29-HAFS-001 29-E-ACB-A 29-PA-05 29-ACH-CM	DB Storage (per GB); Annual Subscription Elite - Add'l Code Base (Level A) Performance Audit (5 Days)	\$5.73 \$14,331.99 \$14,331.99 \$1,742.77	250 1 4 2 2 2	\$14,331.99 \$57,327.96 \$3,485.54 \$5,755.72	\$88,100.19
	29-HAFS-001 29-HAFS-001 29-E-ACB-A 29-PA-05 29-ACH-CM 29-ACH-L 29-ACH-M	DB Storage (per GB); Annual Subscription Elite - Add'l Code Base (Level A) Performance Audit (5 Days) Acquia Cloud Hardware - c1.medium; Annual Subscription Acquia Cloud Hardware - m1.large; Annual Subscription	\$5.73 \$14,331.99 \$14,331.99 \$1,742.77 \$2,877.86	250 1 4 2 2 2	\$14,331.99 \$57,327.96 \$3,485.54	\$88,100.19

		Service Offering 3			1	T
	GSA Part	Part Description	Price	Quantity	Total Price	Total for SO 3
	29-E-MCD-C	Elite - Mission Critical Drupal (Acquia Network with Cloud); Annual Subscription;	\$367,854.41	1	\$367,854.41	\$446,399.94
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	4	\$57,327.96	
	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77	2	\$3,485.54	
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98	
	29-HAFS-001	HA File System (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
	29-HAFS-001	DB Storage (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
NY.Gov	29-ACOM-	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	\$202,756.1
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	12	\$171,983.88	
	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77	2	\$3,485.54	
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98	
Governor.n	29-HAFS-001	HA File System (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
y.gov	29-HAFS-001	DB Storage (per GB); Annual Subscription	6.5	250	\$1,432.50	
	29-E-ACB-A	Elite - Add'l Code Base (Level A)	J14,331.5	1	\$14,331.99	\$202,756.11
	29-PA-05	Performance Audit (5 Days)	+,331.99	12	\$171,983.88	
	29-ACH-CM	Acquia Cloud Hardwal c1 led n; Aprua. Subscription	+2.77	2	\$3,485.54	
	29-ACH-L	Acquia Cloud in vare 11.0 te; Annual Subscription Acquia Cloud In vare - M. medium; Annual Subscription	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Acquia Cloud I rd	\$1,444.66	3	\$4,333.98	
Licensecent	29-HAFS-001	HA File System per GB); Annual Subscription	\$5.73	250	\$1,432.50	
er.ny.gov	29-HAFS-001	DB Storage (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
		Hybrid 1	•	•	•	•
	GSA Part	Part Description	Price	Quantity	Total Price	Total for Hybrid
	29-E-MCD-C	Elite - Mi Critica Drupal (Aoa Network with Cloud); Annual Subscription;	\$310,526.45	1	\$310,526.45	\$331,744.02
	29-ACH-CM	Acquia Cloud Induan - c1.medium; Annual Subscription	\$1,742.77	2	\$3,485.54	
	29-ACH-L	cquia aud ardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98	
	29-HAFS-001	HA File System (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
	29-HAFS-001	DB Storage (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
NY.Gov	29-ACOM-	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	\$45,104.22
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	
	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77	2	\$3,485.54	
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98	
Governor.n	29-HAFS-001	HA File System (per GB); Annual Subscription	\$5.73			
y.gov	29-HAFS-001	DB Storage (per GB); Annual Subscription	\$5.73	250	\$1,432.50	
, , ,	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	\$45,104.22
	29-PA-05	Performance Audit (5 Days)	\$14,331.99		\$14,331.99	
	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77		\$3,485.54	
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	
						ı
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98	
Licensecent		Acquia Cloud Hardware - m1.medium; Annual Subscription HA File System (per GB); Annual Subscription	\$1,444.66 \$5.73		\$4,333.98 \$1,432.50	

	Hybrid 2							
	GSA Part	Part Description	Price	Quantity	Total Price	Total for Hybrid		
	29-E-MCD-C	Elite - Mission Critical Drupal (Acquia Network with Cloud); Annual Subscription;	\$367,854.41	1	\$367,854.41	\$446,399.9		
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	4	\$57,327.96	1		
	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77	2	\$3,485.54	1		
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	5 2	\$5,755.72	1		
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98			
	29-HAFS-001	HA File System (per GB); Annual Subscription	\$5.73	250	\$1,432.50			
	29-HAFS-001	DB Storage (per GB); Annual Subscription	\$5.73	250	\$1,432.50	1		
NY.Gov	29-ACOM-	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	1		
	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,324	1	\$14,331.99	\$88,100.1		
	29-PA-05	Performance Audit (5 Days)	14,331.99	4	\$57,327.96			
	29-ACH-CM	Acquia Cloud Hardware - c1 median; Annua Subscrition	,142.77	2	\$3,485.54			
	29-ACH-L	Acquia Cloud Hardware 101 ge, 2002 Subscription	\$286	2	\$5,755.72			
	29-ACH-M	Acquia Cloud H & re - 1,m im; Annual Subscription	\$1,444.66	3	\$4,333.98	1		
Governor.n	29-HAFS-001	HA File System Annual Subscription	\$5.73	250	\$1,432.50			
y.gov	29-HAFS-001	DB Storage (per B); Annual Subscription	\$5.73	250	\$1,432.50			
	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	\$88,100.1		
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	4	\$57,327.96			
Licensecent	29-ACH-CM	Acquia Cloud Hard e - c1.mediu Annual Subscription	\$1,742.77	2	\$3,485.54			
	29-ACH-L	Acquia Country rdwa - m1.large, Annual Subscription	\$2,877.86	2	\$5,755.72			
	29-ACH-M	cquia oud Haware m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98			
	29-HAFS-001	File Stamper GB); Annual Subscription	\$5.73	250	\$1,432.50			
er.ny.gov	29-HAFS-001	DB Ger GB); Annual Subscription	\$5.73	250	\$1,432.50			
	Hourly St	upport						
	00.0	Dout Description	Dulas	O	Total Daise	1		

GSA Part	Part Description	Price	Quantity	Total Price
29-PCH-00	Prime Contractor Hours	\$238.87	1	\$238.87

Utility Usage Pricing

GSA Part	Part Description	Price	Quantity	Total Price
29-ACB-	Additional Cloud Bandwidth (per GB); Annual Subscription	\$2.87	1	\$2.87
29-HAFS-	HA File System or DB Storage (per GB); Annual Subscription	\$5.73	1	\$5.73

Lot 2 – Indefinite Delivery Indefinite Quantity: Additional Websites

	THIS IS	OUTDATED, PRICING IS AVAILABLE FOR A	ARCHIVE PUR	POSES (ONLY	
	GSA Part	Service Offering 1 Part Description	Price	Quantity	Total Price	Total for SO 1
Single: Small	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	\$40,641.69
Single: Sillali	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	-
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	1	\$1,444.66	-
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	_
		Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	-
Single: Medium	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	\$47,016.55
omgres ivicaram	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77	2	\$3.485.54	-
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	3	\$4,333.98	-
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	
		Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	1	\$4,777.33	
Single: Large	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99	1	\$14,331.99	\$50,502.09
mble. Large	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual	\$1,742.77	4	\$6,971.08	-
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86	2	\$5,755.72	
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Substitution	\$1,444.66	3	\$4,333.98	_
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	1	\$14,331.99	_
		Acquia Cloud Onboarding & Migation, Set (CFL)	\$4,777.33		\$4,777.33	
4. It: C:t CII		Site Factory Small; Page	\$9 54 30		\$95,546.60	¢400 070 F0
Multi-Site: Small	29-PA-05	Performance Audi 5 Days)		1	\$14,331.99	\$109,878.59
Multi-Site:	29-PA-03 29-PAAS-	Site Fac Ty Lidiu Paas	\$1, 331. \$167,55	1 1	\$167,206.55	0404 F00 F4
	29-PA-05	e mai A. (5 Days)	φ14,331.99	1	\$107,200.55	\$181,538.54
4 11 61 1	29-PAAS-SFL	than (3 Days)	\$305,749.12	1	\$305,749.12	¢200 004 44
Multi-Site: Large	29-PA-05	rformance Audit (5 Days)	\$14,331.99	1	\$14,331.99	\$320,081.11
	29-FA-00	Service Offering 2	\$14,551.99	<u> </u>	\$14,551.99	
	GSA Part	Part Description	Price	Quantity	Total Price	Total for SO 2
Ningle: Carell	29-E-ACB-A	Eli - Add'h ode Pase Leva A)	\$14,331.99	Quantity	1 \$14,331.99	\$83,637.66
Single: Small	29-ACH	Act ia Clos (Hardware - m1.large; Annual Subscription	\$2,877.86	+	2 \$5,755.72	\$63,037.00
	ACH-M	Act ia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66	<u> </u>	1 \$1,444.66	-
	12\ PA-05	rmance Audit (5 Days)	\$14,331.99	<u> </u>	4 \$57,327.96	-
		Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33	+	1 \$4,777.33	-
Singalas Madissas	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99	<u> </u>	1 \$14,331.99	¢00 040 F0
ingle: Medium	29-ACH-CM	Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,742.77		2 \$3,485.54	\$90,012.52
		•	Ψ1,172.11			-
		Acquia Cloud Hardware - m1 large: Annual Subscription	\$2,877,86			
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86 \$1,444.66		2 \$5,755.72	-
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66		3 \$4,333.98	
	29-ACH-M 29-PA-05	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days)	\$1,444.66 \$14,331.99		3 \$4,333.98 4 \$57,327.96	
Verlad and	29-ACH-M 29-PA-05 29-ACOM-001	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee)	\$1,444.66 \$14,331.99 \$4,777.33		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33	000 400 00
ingle: Large	29-ACH-M 29-PA-05 29-ACOM-001 29-E-ACB-A	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Elite - Add'l Code Base (Level A)	\$1,444.66 \$14,331.99 \$4,777.33 \$14,331.99		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$14,331.99	\$93,498.06
ingle: Large	29-ACH-M 29-PA-05 29-ACOM-001 29-E-ACB-A 29-ACH-CM	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Elite - Add'l Code Base (Level A) Acquia Cloud Hardware - c1.medium; Annual Subscription	\$1,444.66 \$14,331.99 \$4,777.33 \$14,331.99 \$1,742.77		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$14,331.99 4 \$6,971.08	\$93,498.06
ingle: Large	29-ACH-M 29-PA-05 29-ACOM-001 29-E-ACB-A 29-ACH-CM 29-ACH-L	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Elite - Add'l Code Base (Level A) Acquia Cloud Hardware - c1.medium; Annual Subscription Acquia Cloud Hardware - m1.large; Annual Subscription	\$1,444.66 \$14,331.99 \$4,777.33 \$14,331.99 \$1,742.77 \$2,877.86		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$14,331.99 4 \$6,971.08 2 \$5,755.72	\$93,498.06
ingle: Large	29-ACH-M 29-PA-05 29-ACOM-001 29-E-ACB-A 29-ACH-CM 29-ACH-L 29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Elite - Add'l Code Base (Level A) Acquia Cloud Hardware - c1.medium; Annual Subscription Acquia Cloud Hardware - m1.large; Annual Subscription Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66 \$14,331.99 \$4,777.33 \$14,331.99 \$1,742.77 \$2,877.86 \$1,444.66		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$14,331.99 4 \$6,971.08 2 \$5,755.72 3 \$4,333.98	\$93,498.06
ingle: Large	29-ACH-M 29-PA-05 29-ACOM-001 29-E-ACB-A 29-ACH-CM 29-ACH-L 29-ACH-M 29-PA-05	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Elite - Add'l Code Base (Level A) Acquia Cloud Hardware - c1.medium; Annual Subscription Acquia Cloud Hardware - m1.large; Annual Subscription Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days)	\$1,444.66 \$14,331.99 \$4,777.33 \$14,331.99 \$1,742.77 \$2,877.86 \$1,444.66 \$14,331.99		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$14,331.99 4 \$6,971.08 2 \$5,755.72 3 \$4,333.98 4 \$57,327.96	\$93,498.06
	29-ACH-M 29-PA-05 29-ACOM-001 29-E-ACB-A 29-ACH-CM 29-ACH-L 29-ACH-M 29-PA-05 29-ACOM-001	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Elite - Add'l Code Base (Level A) Acquia Cloud Hardware - c1.medium; Annual Subscription Acquia Cloud Hardware - m1.large; Annual Subscription Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee)	\$1,444.66 \$14,331.99 \$4,777.33 \$14,331.99 \$1,742.77 \$2,877.86 \$1,444.66 \$14,331.99 \$4,777.33		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$14,331.99 4 \$6,971.08 2 \$5,755.72 3 \$4,333.98 4 \$57,327.96 1 \$4,777.33	
	29-ACH-M 29-PA-05 29-ACOM-001 29-E-ACB-A 29-ACH-CM 29-ACH-L 29-ACH-M 29-PA-05 29-ACOM-001 29-PAAS-SFS	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Elite - Add'l Code Base (Level A) Acquia Cloud Hardware - c1.medium; Annual Subscription Acquia Cloud Hardware - m1.large; Annual Subscription Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Site Factory Small; PaaS	\$1,444.66 \$14,331.99 \$4,777.33 \$14,331.99 \$1,742.77 \$2,877.86 \$1,444.66 \$14,331.99 \$4,777.33 \$95,546.60		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$14,331.99 4 \$6,971.08 2 \$5,755.72 3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$95,546.60	\$93,498.06
fingle: Large Multi-Site: Small	29-ACH-M 29-PA-05 29-ACOM-001 29-E-ACB-A 29-ACH-CM 29-ACH-L 29-ACH-M 29-PA-05 29-ACOM-001 29-PAAS-SFS 29-PA-05	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Elite - Add'l Code Base (Level A) Acquia Cloud Hardware - c1.medium; Annual Subscription Acquia Cloud Hardware - m1.large; Annual Subscription Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Site Factory Small; PaaS Performance Audit (5 Days)	\$1,444.66 \$14,331.99 \$4,777.33 \$14,331.99 \$1,742.77 \$2,877.86 \$1,444.66 \$14,331.99 \$4,777.33 \$95,546.60 \$14,331.99		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$14,331.99 4 \$6,971.08 2 \$5,755.72 3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$95,546.60 4 \$57,327.96	\$152,874.56
	29-ACH-M 29-PA-05 29-ACOM-001 29-E-ACB-A 29-ACH-CM 29-ACH-L 29-ACH-M 29-PA-05 29-PA-05 29-PA-05 29-PA-05 29-PA-05	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Elite - Add'l Code Base (Level A) Acquia Cloud Hardware - c1.medium; Annual Subscription Acquia Cloud Hardware - m1.large; Annual Subscription Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Site Factory Small; PaaS Performance Audit (5 Days) Site Factory Medium; PaaS	\$1,444.66 \$14,331.99 \$4,777.33 \$14,331.99 \$1,742.77 \$2,877.86 \$1,444.66 \$14,331.99 \$4,777.33 \$95,546.60 \$14,331.99 \$167,206.55		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$14,331.99 4 \$6,971.08 2 \$5,755.72 3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$95,546.60 4 \$57,327.96 1 \$167,206.55	
fulti-Site: Small	29-ACH-M 29-PA-05 29-ACOM-001 29-E-ACB-A 29-ACH-CM 29-ACH-L 29-ACH-M 29-PA-05 29-ACOM-001 29-PAAS-SFS 29-PA-05	Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Elite - Add'l Code Base (Level A) Acquia Cloud Hardware - c1.medium; Annual Subscription Acquia Cloud Hardware - m1.large; Annual Subscription Acquia Cloud Hardware - m1.medium; Annual Subscription Performance Audit (5 Days) Acquia Cloud Onboarding & Migration (Set Up Fee) Site Factory Small; PaaS Performance Audit (5 Days)	\$1,444.66 \$14,331.99 \$4,777.33 \$14,331.99 \$1,742.77 \$2,877.86 \$1,444.66 \$14,331.99 \$4,777.33 \$95,546.60 \$14,331.99		3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$14,331.99 4 \$6,971.08 2 \$5,755.72 3 \$4,333.98 4 \$57,327.96 1 \$4,777.33 1 \$95,546.60 4 \$57,327.96	\$152,874.56

		Service Offering 3				
	GSA Part	Part Description	Price	Quantity	Total Price	Total for SO 3
Single: Small	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99		1 \$14,331.99	\$198,293.58
	29-ACH-L	Acquia Cloud Hardware - m1.large; Annual Subscription	\$2,877.86		2 \$5,755.72	
	29-ACH-M	Acquia Cloud Hardware - m1.medium; Annual Subscription	\$1,444.66		1 \$1,444.66	7
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	12	\$171,983.88	
	29-ACOM-001	Acquia Cloud Onboarding & Migration (Set Up Fee)	\$4,777.33		1 \$4,777.33	
Single: Medium	29-E-ACB-A	Elite - Add'l Code Base (Level A)	\$14,331.99		1 \$14,331.99	\$204,668.44
	29-ACH-CM	Acquia Cloud Hardware - c1.medium: Armal Suscription	\$1,742.77		2 \$3,485.54	
	29-ACH-L	Acquia Cloud Hardware - m1.larg Ar al S s ption	\$2,877.86		2 \$5,755.72	
	29-ACH-M	Acquia Cloud Hardy n man; A val Subscription	\$1 44.		3 \$4,333.98	
	29-PA-05	Performane Audi 5 Days)	314, 31.9	12	\$171,983.88	
	29-ACOM-001	Acquia Courd Inboa Vinco Migration (Set Up Fee)	\$4.771.53		1 \$4,777.33	7
Single: Large	29-E-ACB-A	ite Add Code ase (Level A)	\$14,331.99		1 \$14,331.99	\$208,153.98
	29-ACH-CM	quia oud Hardware - c1.medium: Annual Subscription	\$1,742.77		4 \$6,971.08	
	29-ACH-L	Acquia Cloud Hardware - m1.large A ual Subscription	\$2,877.86		2 \$5,755.72	
	29-ACH-M	Acquia Cloud Hardwore on medi medual Subscription	\$1,444.66		3 \$4,333.98	
	29-PA-05	Performan Au t (5 ys)	\$14,331.99	12	\$171,983.88	
	29-ACOM-001	Actua Clou Onl ard & wigration (Set Up Fee)	\$4,777.33		1 \$4,777.33	
Multi-Site: Small	29-PA	Site Factor Small; PaaS	\$95,546.60		1 \$95,546.60	\$267,530.48
	PA-05	Per rmance Audit (5 Days)	\$14,331.99	12	\$171,983.88	
Multi-Site: Medium	29 AAS-	olte actory Medium; PaaS	\$167,206.55		1 \$167,206.55	\$339,190.43
	29 -05	Performance Audit (5 Days)	\$14,331.99	12	\$171,983.88	1
/lulti-Site: Large	29-PAAS-SFL	Site Factory Large; PaaS	\$305,749.12		1 \$305,749.12	\$477,733.00
	29-PA-05	Performance Audit (5 Days)	\$14,331.99	12	\$171,983.88	